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(A) Listening 1 ~ 6 (49~54) Tix, KERT TV VA0 H L CHEIHE I3
DT, ZRCHT 2RO BEDLE X 2A)~DD ) BHH—2BU RSV,

Example
(a)
(B)

Because she is always late.
Because the movie will start soon.
Because the busy roads may delay them.

Because the man will not wait any longer.

Listening 1

49. (A) 9:20. (B) 10:20. (€ 1115, (D) 11:50.
Listening 2
50. (A) He will ride it home later.
(B) He will leave it at the restaurant.
(©) He will bring it home on the train.
(D) He will take it home in the car.
Listening 3
51. (A) The zipper is broken. (B) It's too small.
(C) Ttisn't warm enough. (D) 1t looks too old.

— 11 —



Listening 4
52. (A) Osaka. (B) Tokyo.

Listening 5
53. (A) A flower calendar.
(© A family calendar.

Listening 6

54. (A) She got a flat tire.
(C) She had to go to the bank.

— 12 —

(D)

Nagoya. (D) Hiroshima.

A cat calendar.

A modern art calendar.

She had to change trains.

She couldn't catch the bus.



(B) Listening7 ~ 9 (55~63) Ti&, IaFL VT, EIRIShAMEICHT 25D
W REZRA~DD ) b2 5 —DORU L SV, %B, Listening 7 [ &
A=, Listening 8 IZIXME A=, Listening9 \ZIXHENR=2HY T3,
BIEIZH D Ao

Listening 7

55.

57.

According to the woman, pictures of which plants are the most
frequently uploaded?

(A) The spider plant. (B) The snake plant.

(C) The cactus plant. (D) The sunflower plant.

. According to the woman, why does she like gardening outdoors?

(A) Outdoor plants are easier to grow than indoor plants.

(B) The seasonal change in the plants brings her great happiness.
(C) The sunlight makes plants look good on Instagram.

(D) It is cheaper to grow outdoor plants than indoor plants.

Why is the man's daughter growing a watermelon plant?

(A)  Her mother encouraged her to grow it.

B

(B) She wants to make money from selling the watermelons.
©

)
) Her older brother was growing one and it looked fun.
(D) She has to grow it for a school project.

Listening 8

58.

According to the man, when did the tradition of Saturday sweets
start in Sweden?

(A) In the 1950s. (B) In the 1960s.

(©) In the 1970s. (D) In the 1980s.
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59.

Why did the Saturday sweets tradition start?

(A) Dentists were recommending people to only eat sweets once a week.

(B) The government wanted to make an event for families to spend
time together.

(C) It was created by candy companies to sell more sweets.

(D) The economy grew when people spent money on candies every

week.

. According to the man, what is the biggest future challenge for

keeping the Saturday sweets tradition going in Sweden?
(A

Candies are unhealthy for children to eat.

(B) Candies are becoming more expensive in Sweden these days.
(C) Children are not used to managing cashless payments.

(D) Children are spending more during the week on soft drinks and

snacks.

Listening 9

61.

62.

63.

How did the man first learn to use computers?

(A) He learned about them at robot school in the evenings.

(B) His parents showed him the basics at weekends.

(C) He learned from his older sister after school at night.

(D) His math teacher taught him how when he was eight.
‘What most appeals to the man about working for the company?
(A) They pay more than other similar companies.

(B) Employees are free to work on their own projects.

(C) He will be able to train other employees.

(D) He will be able to manage a large team of talented people.
What was a feature of the refrigerator that the man designed?
(A) It was energy efficient.

(B) It could be operated by voice.

(©) It could order items for the user.

(D) " It could suggest recipes.
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(C) Listening 10~11(64~74) Ti&, XFZBIVT, ZRISHL T, FHRE AL
FEXONENE LT IEA) TRUE %, ELL %21 HIXB) FALSE %807 X
Vi, %3, Listening 10 (13 RIEASAND, Listening 11 [CIZMIBEAHOH ) £
To BlEHIEDHY TEA,

Listening 10

You will hear a news report about a service to alter clothing for people

with disabilities. Look at the six sentences below. Decide if each sentence

is TRUE or FALSE. If it is TRUE, choose (A). If it is FALSE, choose (B).

You will now have 20 seconds to read the sentences below.

64.

67.

69.

Uniglo has a service to alter clothing for people with disabilities.
(A) TRUE (B) FALSE

. Teppei Maeda got the idea of altering clothes after receiving requests

from hundreds of people with disabilities.
(A) TRUE (B) FALSE

. The service is able to alter all kinds of clothing.

(A) TRUE (B) FALSE
Customers are able to choose who does the alterations.
(A) TRUE (B) FALSE

. The website has clothing for sale which has been altered.

(A) TRUE (B) FALSE

The report says one staff member learned to sew because of their
child.

(A) TRUE (B) FALSE
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Listening 11
You will hear a man called Bob talking with a woman named Betty about
their spring break plans. Look at the five sentences below. Decide if each
sentence is TRUE or FALSE. If it is TRUE, choose (Al If it is FALSE,

choose (B).

70. The man will go on a six-week holiday with his brother.
() TRUE (B) FALSE
71. The woman will work in a restaurant at a ski resort.
(A) TRUE (B) FALSE
72. The woman's work will give her free time to ski in the morning.
(A) TRUE (B) FALSE
73. The woman found her job through a campus travel agency.
(A) TRUE (B) FALSE
74. The woman has to pay for her hotel room.
(A) TRUE (B) FALSE

BT & B
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